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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
SAcroropoacske 16 29 42 - - - 10C3k 41 0.8 1 17 22 260 3e BuOIpkoBa | Kopenesa rybka 25 3riAHO
MowkomkeHHa
SleHoropoackke 16 30 6,7 - - - 10C3 41 0.6 11 11 22 100 3e caHitapHa croBBypoBHNM 25 martepiaiis
UK THH KaMH
slenoroposchke 16 32 1.1 - - - 10C3x+bn 48 0,85 ia 22 22 390 3e pyOka Kopenesa rybxa 20 JHCBNIOPSAKY BAHHA
SlcHoroposchke 16 36 1.0 - - - 10C3x 49 038 I 17 22 260 3e B Kopenesa rydka 20 HE BUSBICHO
Slenoropoickke 16 37 7,0 - - - 9C3xibn 42 0.8 ] 17 22 240 3¢ - Kopenesa rybka 25 --
Slenoropoacske 16 38 7.0 - - - 9C31bn 42 0.8 I 17 22 240 3e B TMowkowKeHHs 20 -
ScHoropoaceke 19 17 10 - - - 8C3(48)2C3(61)+bn 48 0.6 i 14 18 140 3 -e cToBGYpPOBHUMH 20 s
Slcnoropoacbke 19 18 24 - - - 8C3(48)2C3(61) 48 0,80 I 18 22 280 3e Pl LK AMKAMK 25 R
Scnoroponacbke 28 20 2.4 - - - 10C3 66 0,70 1 21 28 300 3 - . 30 e
Scnoropoackke 47 2 0.4 - - - 10C3 61 0.70 11 16 22 200 3e Bl - 25 -
Slenoropoachke 52 3 20.4 - - - 10C3x+bn 64 0.8 11 20 24 320 3e By Kopewesa rybxa 40 -
Kam'sHchke 7 13 4.0 - - - 8C32/13 61 0.70 1A 25 28 340 2 . TowkomxeHHs 40 P
Kam'snebke 7 29 2.1 - - - 8C3213+H '3+bn 65 0.70 1A 26 32 370 2e B cTO8OYpOBAMHK 28 B
Kam'siHcbke 8 4 1,2 - - - 8C32/13 80 0.55 1A 30 40 340 2e e WKITHUKAM K 48 B
Kam'sHcbke 11 12 0.9 - - - 8C132173+0c+]13+bn 57 0,70 1A 24 26 280 2e - - 24 s
Kam'siucbke 11 17 3.2 - - - 10C3 55 0.40 1A 24 26 210 e -- B 49 Pl
Kam'siHebke 12 8 14.5 - - - 8C31 131 bn+Oc+I3 65 0.65 1A 25 28 310 e - - 26 -
Kam'sncbke 12 18 22 - - - 9C31 F3+bn+Oc+/13 63 0,70 1A 24 24 340 e B Eaes 40 Bt
Kam'sincbke 21 14 0,5 - - - 10C3 91 0,60 1A 31 36 430 2e - = 40 Bt




2 3 4 8 9 10 11 12 13 14 15 16 17 18 19
. AHCBKE 21 17 5,1 4C34)132Bn+0c¢ 91 0,70 1A 30 40 360 2e BuOipKoBa | IMowkomxenna 49 3rigHo
Kam'sHchke 22 7 5,7 10C3+I3+bn 86 0,50 IA 31 36 360 2e caHiTapHa | crosGyposumu 25 Marepianis
Kam'scoke 24 6 1,9 9C31/13 105 0,55 I 29 40 350 2e pyoxa UIKIAHMKAMH 49 JIiCBHOPS/IKY BAHHS
Kam'stcnke 24 7 3,1 10C3k 53 0,80 [ 21 22 330 2 <. Kopenera ry6xa 30 HE BUSBJICHO
Kam'sHcoke 33 10 5,2 10C3+13+T3 86 0,55 i 28 32 350 2e = Mowkomxkenus 47 e
Kam'sHeoke 33 15 0,6 10C3+03+73 86 0,60 1A 29 40 400 Qe -5 cToBGYpOBHMMU 49 s
Kam'sicbke 34 7 4.0 6C34/13+Bn+Qc 76 0,65 1A 27 32 340 2e “ KT ARUKAMH 40 P
Kam'sancbke 45 22 1,3 9C31 13+ 3 116 0,60 I 30 44 390 2e Pt Eas 42 B
Kam'sHchke 58 4 0,5 10C3+[3+bn 81 0,60 1A 28 3 370 2e P - 40 B
Kam'anceke 58 8 2.3 9C31bn+/13 105 0,55 I 30 40 360 2e LS Bt 44 B
Kam'sincbke 58 15 0,9 10C3+43+bn+3 106 0,55 1A 31 40 400 2e s B 49 =
Kam'ancoke 58 22 5,0 9C31 13+bn+"3 80 0,70 1A 29 36 440 2e - B 48 B
Kam'siHcbke 59 31 2.5 10C3+M3+bn 91 0,60 1A 3 40 410 2e = = 45 B
Kam'anceke 70 1 8,0 10C3+Bn 66 0,85 1A 25 28 470 2e B B 44 )
Kam'siHcbke 71 2 40,5 10C3+d3 76 0,60 1A 27 30 340 2e “a =a 49 Bt
Kam'suerke 85 3 4.4 10C3+6n 140 0,40 I 29 52 260 2 Bt - 40 PN
KaTioskaHchke 2 1 0,3 10C3 91 0,50 I 26 40 280 2 - = 40 B
KaTttoxanceke 2 17 0,9 10C3 76 0,70 I 22 28 320 2 = B 35 P
Karioxkancbke 2 37 0,3 10C3+13 84 0,35 il 24 28 180 2 e PSS 35 s
Karroxancbke 18 2 0,9 10C3+13+bn 64 0,60 I 21 28 260 2 B “ 45 e
Katioxkancoke 18 10 1,2 9C31bn+/I3 86 0,70 1A 29 36 410 2e B - 35 B
Kartoxancske 18 22 0,3 10Cs3 56 0,70 I 20 24 280 2 B = 45 B
KaTioxanceke 18 27 1,7 10C3+d3+bn 58 0,75 1A 25 28 410 2 o - 40 =
Katioxancexe 19 16 2.0 9Cz1Bn+/I3 86 0,70 I 27 32 400 2e - B 30 B
KaTttoxancobke 19 19 1,6 9C31Bn+]13 61 0,70 1 22 28 300 2e - o 40 =
Karioxanceke 19 24 0,9 10C3+3+bn 64 0,70 1A 27 32 420 2 = - 25 -
KaTioxaHcbke 19 28 1,6 10C3+3+bn 66 0,70 1A 25 28 380 2e -« - 45 -
Kamoxatcobke 19 32 0,4 8C32bn 86 0,40 1 28 32 220 2e Bl B 40 B
KaTioxanceke 21 12 0,8 10C3+/13+bn 86 0,60 1 28 32 380 e - Bt 45 s
KaTioxaHcbke 24 20 14,6 10C3+/3+bn 71 0,50 1 23 24 390 2e B - 20 =
KaTioxanchbre 35 3 5.8 9C31 I3 76 0,70 1A 29 32 460 2e e = 45 B
KaTtioxaHcbke 36 9 0,4 7032C31B0+Oc¢ 61 0,60 1 20 28 180 2 . = 40 s
KamioxkaHchke 36 16 2,5 10C3+/[13+bn 86 0,70 I 27 32 420 2 B = 40 -
KaTioxaHcbke 36 22 0,4 10C3+/03 73 0,40 I 25 32 220 2e - Bt 45 P
Katroxanchke 36 30 2,0 10C3+/13 69 0,70 1 23 28 340 2e - B 40 <
Karioxancrke 36 37 3.5 9C31 /3 81 0,75 I 26 32 410 2 & - 40 =
KarioxkaHcbke 36 49 3 10C3+/13 91 0.70 I 27 32 420 2 o - 40 =
KaTioxancbke 47 3 9.5 10C3+13+bn 66 0,80 I 23 28 390 2e = = 25 -
KaTioxkaHcbke 47 6 1,2 7C31131Bn1I3+0¢ 66 0,70 1A 26 32 290 2e B Bt 20 =
Kattoxanceke 62 1 45 10C3+bn 51 0,80 1A 21 24 340 2e “a = 20 =
Kartioxanceke 62 2 49 10C3+bn 57 0.80 I 20 24 320 2e “a = 45 B
Karioxancbke 62 3 6,0 10C3+/13+bn 66 0,80 I 22 24 370 2e - e 45 -
Karioxancbke 62 5 8,0 8C32Bn+]I3 66 0.80 [ 22 28 340 2e s -« 45 =
IleBueHKIBChKE 5 13 54 10C3+/13+bn 86 0,70 1A 29 36 460 2e s - 30 =
[leByerkiBehke 10 12 10,7 9C31/13+bn 91 0,70 1 28 32 420 2e =a B 35 =




2 3 4 8 9 10 11 12 13 14 15 16 17 18 19
(¢HKIBCbKE 10 16 2,6 10C3+bn 81 0,70 I 26 36 400 Qe BUOIpKoBa | TMowkomkenns 30 3rLAHO

(lleBueHkiBCchKE 10 25 2,1 10C3+3+bn 86 0,70 1 26 32 400 2e caHiTapHa | crosGyposumu 35 marepianis
IHlesyenkincrke 10 27 5,7 10C3+/I3+bn 86 0,70 [ 26 30 400 2e pybka WKIIHUKAMH 30 JIICBMIOPS AKYBAHHSI
[lIeBueHKIBCbKE 14 1 0,9 10C3+bn 96 0,60 A 31 36 440 2e = . 45 HE BUSIBAEHO
[lleBuenkiBchke 14 9 3,6 10c3 96 0,70 1A 31 36 500 2e - - 45
IeBuenkiBebke 14 19 0,3 10¢3 76 0,40 16 30 36 270 2e Bl B 40 -
[lepyenkiscoke 15 2 2,7 10C3+13 75 0,70 1A 28 32 440 2e ‘o Bl 30 P
HlesyeHkiBCbKE 15 3 1,2 10C3+3+bn 91 0,70 1A 31 36 500 2e P - 40 P
[leBueHKIBChKE 15 4 0,6 10C3+bn+/13 76 0,70 1A 28 36 440 2e Bl Pl 30 B
IleBuenxiBcbKe 15 7 1.3 10C3+/13 96 0,60 1 28 40 380 2e B - 30 P
LlleBueHKIBCbKE 15 13 1.1 10c3 86 0,70 A 30 36 480 Qe B - 30 s
LeByeHKIBCbKE 15 16 2,7 10C3+[3+bn 61 0,70 1A 24 28 360 2e B P 25 Pt
lleBueHKiBCHKE 15 20 1,0 8C32Bn+/13 31 0,75 1A 22 24 320 e “ B 20 P
leByenxiBcbke 15 21 1.9 10Cs3 54 0,75 I 20 24 300 2e ‘o P 20 R
LJeBuenkiBcobke 16 2 32 10C3+3+bn 91 0,70 1 28 32 440 2e < B 35 P
[HesueHkiBchke 16 5 4.6 9C31/13+bn 76 0,70 1A 27 30 400 2e - - 30 s
esuenxiBcoke 20 8 03 10C3 76 0,30 [A 27 32 180 2e - s 35 -
lileBuenKiBChbKe 20 15 1,7 10Cs 66 0,70 1A 25 28 380 2e - - 35 B
leByeHkIBCbke 22 17 0.9 10c3 81 0,30 1A 29 32 200 2e = B 30 -
IleBueHKIBCHKE 22 18 0,7 10C3 81 0,60 1A 29 32 390 2e “a B 40 A
[les4yeHKIBCLKE 22 27 33 8132C3 106 0,70 1 26 36 330 2e - Bt 35 Bl
IeBuenkischke 22 28 1.2 10C3+13 81 0,60 1A 29 32 390 2e “ ~a 35 =
lleryenkiBeuke 22 29 2.5 10C3+]13+Ak6 66 0,70 1A 27 30 420 2e < - 35 .
UlesyenxiBebke 22 39 1,0 10C3+]13+Ax6 86 0,40 1A 30 32 270 2e “ B 30 B
[leBueHKIBCbKE 22 42 0,5 10C3+3+bn+Kar 66 0,40 A 27 32 240 2e B B 30 -
IesuenkiBebke 25 5 0,9 10C3+Bn+/13 55 0,70 1A 22 24 320 2e - - 25 =
[HIeBueHkiBChKe 28 15 0,9 8C325ne+i3+Oc 66 0,80 1A 26 30 440 2e -t - 25 =
LileBueHkIBCbKE 28 21 2,1 8C32bn 51 0,75 1A 23 28 340 2e - < 25 Bt
1lleBueHkiChke 28 22 2,0 8C32bn 55 0,80 1A 23 28 370 2e B Pl 25 P
leBueHkiBebke 29 19 1,1 10C3+/13+bn 58 0,70 1A 25 28 380 2e “ Bl 25 -
[IIeB4eHKiBCbKE 29 20 0.8 9C31Bn+/13+0c¢ 50 0,70 A 23 28 320 2e o B 25 B
IileByeHKIBChKE 29 25 2.0 9C31Bbn+/3a 50 0,80 1A 23 28 360 2e “a Bt 20 B
LlleByeHkiBChKE 29 30 0,4 10C3 59 0,70 1A 25 28 380 2e = -*a 25 o
[lIeBueHkiBCbKE 29 32 1,0 10C3 81 0,50 | 27 32 300 2e “ Bt 35 -
[leBuenkiBCbKE 31 15 14 10C3 61 0,75 1A 24 26 380 2e = -t 30 =
LleByeHKIBCbKe 31 16 2,8 10C3 51 0,80 [ 20 24 320 2e -« Bt 20 B
IHeBuenxisebke 32 5 23,0 10C3 61 0,80 I 22 26 360 2e = Bt 25 B
IleBuenKiBCbKe 32 6 7.8 10C3+AK6 76 0,80 | 24 28 410 2e “ Bt 30 s
1lleBueHKIBCHKE 32 9 13,5 10C3 50 0,75 i 20 26 300 2e “ s 25 -
lesBueHKiBChKE 32 10 3,7 10C3 61 0,80 I 20 26 320 2e “ < 25 e
IeBueHkiBCbke 32 11 43 10C3 50 0,70 11 17 20 220 2e - = 25 -
1leBuenkiBCbKe 32 15 1.6 10C3 54 0,70 1A 22 28 320 2e = s 25 -
IlleBueHKIBCHKE 35 1 4.5 10C3+/13+bn 51 0,70 [ 20 24 280 2e =a Bt 25 -
1lesueHKIBCLKE 35 22 1,1 10C3 86 0,70 A 29 36 460 2e - Ea 35 -
[es4enkiBenke 35 26 2.0 10C3+/13+Bn 91 0,70 I 28 36 440 2e B S 40 4
llleByenkiscbke 35 32 0,9 10C3+/13+bn+0c¢ 62 0,70 1A 25 28 380 2e B o 30 -«




2 3 4 8 9 10 11 12 13 14 15 16 17 18 19
«CHKIBCBKE 36 4 48 T33C3+SAne+bn 66 0,80 1 21 24 280 2e BuOipkoBa | Moukomxenns 30 3riJHO

dleByeHkiBehke 36 7 0,4 10C3+I3+bn 64 0,70 A 27 32 420 e CaHiTapHa | crosGyposumu 30 Marepianis
IlesyenkiBebie 36 I 1,2 8C32/I3+Bn 59 0,80 1A 25 26 390 2e pybxa 1K AHUKAMH 30 JiCBIOPSIKYBAHHS
[leBuenxiBchke 36 16 1,8 10C3 63 0,70 1A 26 28 400 2e e - 30 HE BHABJECHO
IIeBuenkiscske 36 17 2,6 10C3+bn+Ak6 81 0,75 A 28 32 470 2e B -t 35 B
Iesuenkiseoke 36 25 0,5 10C3+/13 66 0,80 i6 28 30 550 2e - Bt 30 =
LleueHkiBcbke 36 27 1.8 10C3+3+bn+3 53 0,80 1A 23 26 390 2e P -5 25 B
leBucHkiBebke 37 15 29 10C3+bn+Ax6 81 0,70 1A 29 36 460 2e ~a Bt 35 =
[eBueHkiBchke 43 2 5,6 7C33bn+/13 i1 0,80 i 4 3 20 2e =- B 30 B
LHleBuenkiscbke 44 9 22 10C3+/I3+bn 91 0,70 1 28 32 440 2e P Ea 40 B
[HTeBuenxkiBcbke 44 12 1,0 10C3 82 0,70 I 26 32 400 2e B 40 <
[ilesuenkiBcbke 45 6 0,9 8C32)I3 64 0,70 1A 25 28 350 2e =L 30 -
LileB4yeHkiBChbke 45 9 1,2 7C3313+bn+Qc 51 0,70 1A 23 28 270 2e Bl 25 Bt
[Hes4eukiBchke 46 32 1,9 10C3+3+bn 64 0,70 I 23 28 340 2e - 25 =
LleBueHkiBCEKE 47 1 21,5 9C31 13+Bn+0c+ 561+ 96 0,70 1 29 36 440 e e e 40 ¢
IlleByenkiBchke 47 20 1,2 10C3 81 0,70 I 26 30 400 2e EaS P 40 P
JlureuHischke 1 20 11,0 9Csx1bn 46 0,80 1A 21 24 320 2e s Kopewesa ry6ka 20 S
JluteuHIBCbKE 1 34 6,2 10c3K 54 0,80 1 21 24 340 2e B B 20 -
JIuTBHHIBCBHKE 1 36 50 8C3(65)+2C3(45)+bn+ 65 0,80 1A 25 32 410 2e - Nowkoaxenns 24 B
JIuTBHHIBCLKE 5 13 2,7 10C3+M3+bn 85 0,80 I 27 32 480 2e . cToBGYpOBUMU 22 L5
Jlureuniscebke 5 23 1,1 10C3+bn+/13 86 0,75 1A 29 36 490 2e P WIKITHHKAMH 25 B
JIvTBUHIBCBEKE 6 20 1,8 10C3 86 0,80 1A 30 36 550 2e - -5 40 B
Jluteuuischke 6 21 54 10C3+Bn 91 0,70 1A 30 40 480 2e - - 25 =
JIutBHHIBCLKE 7 28 59 10C3+bn+/13 96 0,65 1A 30 44 440 2e = = 25 =
JluTBUNHIBCBKE 7 35 0,8 10C3+/13 91 0,65 I 29 36 430 2e B B 22 o
JInTBUHIBCBKE 10 6 21,0 10C3k+bn 61 0,80 1A 24 26 420 2e s Kopenesa ry6ka 25 e
JlvTBHHIBCEKE 10 12 13,0 10C3k 61 0,75 1A 24 26 390 2e -a =5 40 B
JIutBrHIBChKE 11 3 4.1 10C3k 61 0,80 1A 24 26 420 2 Eas - 40 <
JIuTBHHIBCLKE 11 4 11,0 10C3k+bn 60 0,80 1A 25 26 450 2e = - 22 B
JIuTBUHIBCHKE 11 33 8,6 10C3k+bn 41 0,80 1A 19 22 300 2e = = 40 P
JIuTBUHIBCHKE 12 2 7.0 10C3k 61 0,80 1A 24 26 400 2e Bt e 25 “a
JluTBUHIBCBKE 13 1 1,6 10C3 76 0,80 1A 28 32 500 2¢e = Mowkomxenna 24 B
JIntBHHIBCbKE 14 24 23 7C3(125)3C3(90)+13 125 0,50 il 28 44 300 2e B CTOBOYPOBHMH 25 =
JlutBuniBChKe 15 16 1,0 10C3 86 0,80 I 27 32 480 2e = LK THUKAMI 25 -
JluTBHHIBCHKE 15 28 5,0 7C3(120)3C3(90)+/13 120 0,60 I 30 40 390 2e -t e 25 -
JluTBHHIBCHKE 16 21 2,2 10C3+113 81 0,80 1A 28 32 500 2e B P 40 -
JlutBHHIBCEKE 16 25 32 7/132C31bn 121 0,70 11 25 *32 330 2e B “a 24 =
JInTBUHIBCHKE 17 12 1,8 9Cs31/13 61 0,85 1A 25 26 450 2e B = 40 -
JlurBUHIBCHKE 18 2 1.1 9C3113 107 0,50 [ 30 40 320 2e B e 25 =
JlutBuniBCEKE 18 13 0,7 9C31 /13 115 0,55 1 29 40 350 2e “ A 25 =
JlurBUHiBCHKE 21 14 1,0 10C3 51 0,75 1A 23 28 360 2e -t - 20 -
JlurBuHiBCHKE 21 23 3,5 10C3 56 0,80 A 24 26 420 2e - “a 25 =




2 3 4 8 9 10 11 12 13 14 15 16 17 18 19
sHHIBChKE 21 37 1,4 10Cs3 56 0,80 1A 24 26 410 2e BUOIpkoBa | IMowkomxenns 20 3rigHo

JluTBUHIBCEKE 21 40 1,8 10C3 56 0,80 1A 24 26 410 2e CaHiTapHa | ctoBGyposumu 45 3riHO
JlutBuHisCchke 22 6 17,0 9C31/13+bn 90 0,60 1 29 40 380 2e pyOka KL AHHKAMH 25 Marepianis
JIMTBHHIBCbKe 25 30 5,9 8C32C3 92 0,65 I 29 40 400 2e e “a 25 JCBIOPAAKYBAHHS
JIurBuHIBCHKE 27 1 16,5 7132C31Bn It 0,75 I 26 36 360 2e - - 20 HE BUSIBJICHO
JIuTBURIBChKE 27 11 7,7 9C31 /13+bn 90 0,65 1 29 36 390 2e - . 25 B
JIMTBUHIBCEKE 27 25 1,0 7C333+bn 121 0,60 1 30 40 370 2e B - 24 -5
JInTBUHIBCHKE 28 10 2,5 10C3 71 0,70 1A 26 32 400 2e LS B 45 L
JINTBHHIBChKE 30 5 1,0 8C31Bn1Bny 35 0,90 I 14 16 200 2e B =« 20 B
JlurBuHIBCbKE 30 10 110 10C3K 61 0,75 1A 25 28 410 2e B Kopenena rybxa 24 =
JIUTBUHIBCEKE 30 16 6,9 9C3113+O0c+bn 86 0,75 A 29 36 470 2e - TowxomKkenHs 24 =
JIlutBHHIBCHKE 31 19 28 9C3(56)1C3(76) 56 - 0,80 IA 24 26 410 2e - CTOBOYPOBUMMU 25 €
JluTBUHIBCbKE 32 2 9,5 8C3(85)2Cx(65)+bn+]lf 85 0,70 I 26 36 380 2e LIKiIHMKaMH 25
JIuTBHHIBCHKE 32 13 3.0 10C3+/3+bn 56 0,80 1A 22 24 390 2e Ea B 22 s
JIHTBUHIBCHKE 32 14 2,6 10C3 61 0,90 1A 24 26 470 2e - = 22 Pt
JlutBuniBCchKe 32 18 2.9 10C3 35 0,70 I 15 20 190 2e B - 20 B
JlurBuHiBChKE 33 1 2,0 10C3 44 0,80 1A 20 24 320 2e PR B 20 -
JIuTBUHIBCBKE 33 6 6,2 7C33bn 44 0,75 A 21 24 280 2e - “ 20 -
JIUTBHHIBCLKE 33 22 2,9 10C3+Bbn 71 0,80 1A 26 32 460 2e Fa B 22 -
JInTBHHIBCLKE 40 20 2.4 8C31Bn1 AK6 44 0,80 1A 21 24 310 2e - Bt 25 -

PynHsiHcbke 6 1 16,3 10C3 56 0,75 1 21 22 320 4e - - 45

PynusHcbke 37 23 32 8C32Bn+/3+I3+5ne 45 0,70 1A 21 20 260 4e = “a 45

Pynusinceke 53 1 19,2 10C3+Bn+]I3 70 0,64 1 22 24 290 de =5 B 30 =5
Juinposcrke 29 4 13,0 9C31bn 38 0,90 1A 18 18 300 3 “a < 25

JHinposcbke 37 16 2.2 10C3+bn 96 0,70 I 28 36 380 4e - o 25 -
JIHINpOBChKE 46 20 1,8 10C3+3+Bn 61 0,70 1A 24 26 360 4e = - 30 =a
JlninpoBckke 56 13 26,0 9C31Bn+/13 62 0,88 I 20 20 340 4e - = 30 -
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